MAT 055 Name Answers
Practice Test Chp 18 Date
Version B Campus

All answers are to be in simplest form. A scientific calculator may be used. No notes, no books, no

homework may be used. This is a practice test consisting of basic concepts presented. It reflects

what could be on the actual test. Students are encouraged to review all of the material presented.
X= -2 Find y by substituting the x value back in. Note that f(x) is replaced by vy.

Fincf?l?e vertex of the parabola. _ (- _"; 4q y.a2 aN _3_\'= a3
) = _—3__ 3 v 3 = |3. y. I
1) f(x):%xz—%x—z—?? (3 % Vertex:(&L -8 )

2 20

Answer: (2, -8) y= % (_f) - %(%) - -3_,

ye 4)-8_ 20
'_'L' ta,-'g 0-3 a4
=3 3-F="g="7

2)  f(x)=3x2+7 "‘!()‘)= 3Xl+ ») I-?- Vertex:(_(Q) z )

4
Answer: (0,7) X= o _ o . o) Substitute a zero term for missing b or «
;{3) 6 terms. The a term cannot be missing or
it is no longer a quadratic.
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Math055 PracTest
Use the graph of f to evaluate each expression.

3)  £(3), {(5) Given the x value, what is the y value?

y

. 54

~n

v

3) = =~k f5)= =

Answer: -2, -2

For the given f(x), find the following and graph the function.
P = -5x* +0x +O

2
9 f0=-52 y = ;95) =0 y-= -s(0)

a) Identify the vertex ( () |“ 2 )
Express as an equation. Use the x

b) What is the axis of symmetry? )( = O value from the vertex.

c¢) Does the graph open up or down? Q_Cl oL

Opens down when the a term is negative. Vertex is the, high point.
d) Will the vertex results in a minimum or maximum value? /W X 1w

e) Indentify the minimum or maximum y-value. (@) y value of the vertex

f) Evaluate f(-2) __ = 20 I? (' 3) - - :('?):=> f (‘2) = - 5’(")
L 2(-2)=-20
g) Evaluate f(3) __— 9{ P (3) -5 (3) 5)-"('))". _s.(q)
() =-ys

h)  Graph the function.
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--5—)( y
Yer-\-e¥=(°°15 DR,

For the given equation, find the following then graph and solve the equatlon
_)( -\-9)(1- g‘o Y:-(’/) 4_§<‘-/)
5) ‘@ZSX XX- ﬁ:)x: zgx_q Y-—-/b"-su
a) Identify the vertex (‘Il, Ib‘) y = /b

b) What is the axis of symmetry?_ X = y
a term is negative so opens dow
c¢) Does the grapgl open up or down? 2 I l own
f)  Graph the equation.
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g) What is(are) the solution(s) to the equation? X=0 4 8
If the solutig_n is not real, say so.
O= 8 X=X Factor, use the quadratic
2 equation or complete the
O= -x +8x» square to solve.

- - X- ) -X=0 X- 8 =0 Set each factor the contains a
0 X ( 8 =7 28 *+8B variable to zero and solve.

Answer: (4, 16)
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Solve quadratic equation by factoring,.

6) x2+2x-80=0 4.100 OID
(Xﬂoxx 8) i /x =-'/0
X:‘/o X—' X..ﬂ'_— a

+8 +6
v=8

Answer: -10, 8

Use the square root property to solve the equation.

2 Because you are taking the square root on
7) m :||3 e J X

each side, make sure to use plus/minus.
xtZ2=Ly{3

-3 -7
XxX=-21Va

Answer: -7 * '\/5

8) (7x+82r 7X+g= jg\ré_
AnswerST -B-"-\El

7
x

1
2
X Ja

|
™

7
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Find the term that should be added to the expression to form a perfect square trinomial. Write the

resulting perfect square trinomial in factored form.
() ndd 1o both sides

9)  x2+5x
25 5)2
Answer: E [x+ 3] a5 _2__ S
C g, 25— xa-l- 5X » 7 Term to add 7
( 5\ 4
( X +§ _) Factored Formé“_’lg)

1.
(b) (%)
Solve the equation by completing the square (; )
(a =35+ =

10 2492x-35=0 A +a’(+
+ =
)X "+ 35 & 3S s Ay A+l = 3b

Answer: 5, -7
- | Eﬁ
While this could be factored other w i,)‘ + ')

the question asks for completingthe  y4 | = % 6
-1
6

square.
x = =1 +
wa-ltb x=-1-6
XxX=5 X=-7
2 a Divide by the a coefficient to

1) 5x2+ 10x =-2 (_lg_, (%) create a leading coefficient of 1.

35 ST 25 2

Answer: 5“\/% * (_3_) - 3)

5 X +3x +\27 = =+ =2
x? 1Ay + | "—g-+| E-)




Factor out the GCF to make it easier. Math055 PracTest
12) 22-4x-6=0 X< 2 .53 .9

2(x*-2x-2) =0 &) - )"

GCF does not play a role in a solution. ( 3) L 7.)
X=2x #1227 =3r\Z

While this could be factored other ways, z

the question asks for completing the X- ,s = ¢+
o x-D* AT x= -2 X= I+
ol = I : X=- ] x=3
Answer: 3, -1 ":\," | * 2

2 1 1 _T r_.
X+x+() =-|+La) X+3-\773
XL"'X"'"!] = -/+g x+b=2x LJ>

Solve the formula for the specified variable.
14) M =mnr2hd forr I/ M X
Thd Thd N'rhd
Answer: r=x, ’ —d

Use the discriminant to determine the number of real solutions.

LOOKL @D Lr-9Yac
Number of Real Solutions a

15) x2-4x-2=0

Answer: Two real solutions

L -Yac >0 2real
o=l b=-Y c=-4 )

L 90)2) bofeer0 H
Cq9)- 90 Li-Yac <O S Mo
b + 8 ree

oY
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16) xX2-4x+6=0 O= | b=- Yc=6 Number of Real Solutions Q
Answer: No real golutions
Gvivmﬁ
W -2Y =

Solve the equation using the quadratic formula. Write complex solutions in standard form.

o mlerd bt JOTTRE

17) X2 +x+4=0

pELCIE ORI aRl ¥ ol EV N

(1)
-3‘—Ii ‘__.J“_ Correct form for a+bi
2
Answer: —l:iﬁ
G=?' ‘O:‘; C'=29 'S-IJ(SJ '/(71'7' -51@5—113
18) 7x2+5x+4=0 J()Q) A8
-5347J-82 _-S*xAa83_-3 1,55
- as 77 Nz A
Answer: —i:iﬂ
14 14
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Use the given substitution to solve the equation

19) x4-11x2+10=0, u=x2 (X:) )(

—|Iu+lo ®
(w-10)u-1) =0
U=10 u=l

(*r\r fr IVT = x|

X=3J0 X Xy

Answer: #1, * /10

Solve the equation. u= \,7(_

The b term provides a hint on how

20) x - 11ax +30 =0 to set up the substitution.

Answer: 25, 36

ua- fJu+20 =0

-5 u-8 =0
Uu=6 uv=5

(&7’ FlgaA)

X'—"?{ X =36
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